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Eventl Event?
ladderl ladder? ladderl ladder? ladderl

BCO3 hit

N
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O
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e FOBITIEZBCOID T —XIE, 220D/ MMZET=A>TWBA, EventliZPFEF->TW 3
DTTFA—KATETWS,
« LA L. BCO2,BCO3DFT—% %, Eventl, Event2iCE/=HA>TWb, DOFT—IHT
O—FTETCWLWHEWEHICEZRS
« Takashi's 7aA—&%%2 D 5 —RZHIHLTWD,
e TOA—KY 7 b7z TIIEENICEventZBECT -4 FLBEEBITBHZENTERL, T
7 a— RALE =Eventd R DPacketZ BT 2 Z &, BEERIICIZLLT
1. Event#EW§ Event* evt = eventltr->getNextEvent()
2. EventWdPacket#EE L. 73— K Packet *p = e->getPacket(3001); p->iValue()
3. Event#REL., /1R b TT7T3— FRT delete p; delete e

e Takashi's 7a—4&XTlZ. BCODT—&Z A Z A5 £ ThventZEmAZ{ToTWS, 1
&Y, EHOEventROT—4 A2 F & HTW5S,

003; ++id)

et (id);

nt o= p>iValue(0, "NR_HITS")
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Solution : Modebit Offset

}—L, T \ INTT (felix-2) was timed-in successfully through the modebit scan. The sweet spot of felix BCO counter
HX /k reset command issue timing was found at 76 BCLKs after FPHX BCO counter reset issue.

Trigger Correlated BCO

e GL1. GTMa~ > FIZ&EH5MODEBITDOERE oty 00z e Rese) ] S

FPHX BCO {0123 4 5 6---

e # gtm_load_modebits 3 intt.scheduler PHX Reset Offset 018456
~ 28BLCKs
é?6:0x35(Fe\ix Reset)
O
24 a—77 74 IL(NTT.scheduler) relaco ot
MBD-LL1 | LlDelay
# modegrp repeat jump target modebitfile -z I

O O O O OOX33,790X35,1000X36 Modebit Felix Reset Delay: 28+23+25=76

1 0 0 0 11TH, 0x33=FPHX reset, 0x35=FELIX reset, 0x36="7

c 00 TR 6L TUAL,

4 0 1 3

irr"|t WeEloMlielel=t oD (const int gtm, const int mode
i it
« VITOEAL 120Ny FOEZTAET HIMERELTVS ih&mt

e index : command = index=0~119, command=LA L\ 4
e 79:0x35 —  79/N>F H TT0x35(FelixReset) = L T 4

for (i=0:1<120:i++)
I
L

° 5@%7‘7— 7\£ : YaTM etm][offeset+i] = modebits[i];
« TOT7 LD HHEH=GTMICETET 5 EGTMICKIRT 2, —-—

« Memory-Mapped 10/% - EX T U (D7 KL ) EFPGARD L ¥k
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Solution : Modebit Offset

INTT (felix-2) was timed-in successfully through the modebit scan. The sweet spot of felix BCO counter
reset command issue timing was found at 76 BCLKs after FPHX BCO counter reset issue.

Trigger Correlated BCO

Modebit BCO to be saved

Command 50:0}:33 (FPHX Reset) s - ' — BBOX
FPHX BCO | M0123456- S\

| FPHX Reset Offset ‘ » 0123456

|~ 28BLCKs | ¢

' 176:0x35(Felix Reset)

' |
Felix BCO | »0123456

'MBD-LL1 | L1Delay I

23 25
Modebit Felix Reset Delay: 28+23+25=76
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o IHEModebitT& A =7 %

BLTWD,
« FELIX reset TFELIX-BCOA 7 >~
2 £ FPHX-BCO% —E & & T Ly
Do

MODEBIT & NcollisionD#E A&
HhETHE THLRAETZZH,
e« AIET % & . Ncollision=127D

FTRRNDFRERICTE > T
HeEDI &,

L1DelayZz sA%E 9 5 N&E TlL ?
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« BCO_FULL#=+a X b
MIIED 7 X—TH—2,
« DFELIXE £ —E

« 2D2MOROCTEOLLA K
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« ROCO~0.1.
« ROC2~0.5




Runl1927/

Intt0: T — XA &N T LY,

h_hits_0 h_hitg_1

lad=1

N_zero=10870
N_all =11332
Ratio =097

N_all =11135

h_hils_4 h_hils 5
19 1 lads5
¥ N_zero=11330 pE N_zero=11318
N_all 211334 ] N_all 211334

Ratio =1.00 Ratio =1.00

00 00
h_hils_8 h_hils_9
' s T T
5 N_zero=11318 5 N_zero=11243
N_all =11334 N_all =11334
1 Ratio =1.00 1 Ratio =0.99

h_hits_12 h_hits_13

w0 w0
¥ N_zero=10983 pE N_zero=11125

- 3

N_all 211334 N_all 211334

s Ratio =097 I | Ratio =0.98

K 3 il 3

oy | T

B g L=11) 200 =113 o0 B g L=11) 200 =113 o0
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h_hils_2

N_zero=11218
N_all =11334
Ratio =099

h_hils_&

N_zero=6251
N_all =11322
Ratio =055

h_hits_10

lad=10
N_zero=11328
N_all =11334
Ratio =100

h_hils_3
o lad=3
N_zero=11270
0L
N_all =11334
18] Ratio =099

h_hils_7

h_hits_11

N_all =11334
Ratio =1.00

lad=11
N_zero=11323
N_all =11334

Ratio =1.00

Intt2: 0.1~0.3

h_hits_0 h_hits_1

lad=1
N_zero=1210
N_all =11333

lad=0
N_zero=1282
i _all =11333
Ratio =0.11

h_hils 4 h hits 5§

N_zero=1822
N_all =11333
Ratio =0.16

N_zero=1712
N_all =11333
Ratio =0.15

h_hils_8

lad=8
N_zero=1765
N_all =11333
Ratio =0.16

h_hils_12

lad=12
N_zero=2276
N_all =11333
Ratio =0.20

Ratio =028

h_hils_2

lad=2
N_zero=13T1
_all =11333
fatio =0.12

h hils &

N_zero=1753
N_all =11333
Ratio =0.15

h_hits_10

T lad=10
N_zero=2127
N_all 211333
Ratio =0.19

N_zero=1744
N_all =11333
Ratio =0.15

h hits 7

N_zero=1880
N_all =11333
Ratio =017

h_hits_11

lad=11
N_zero=2256
N_all =11333
Ratio =0.20
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